
AP® STATISTICS  
2007 SCORING GUIDELINES (Form B) 

© 2007 The College Board. All rights reserved. 
Visit apcentral.collegeboard.com (for AP professionals) and www.collegeboard.com/apstudents (for students and parents). 

 
Question 6  

 
Intent of Question 
 
The primary intent of this question is to assess a student’s ability to: (1) make an inference about the difference in 
two population proportions; (2) examine a regression model for a linear trend in proportions; and (3) construct a 
confidence interval for a slope. The investigative part of this question requires a student to use a regression model 
to estimate survival probabilities for two different situations and make an inference about the expected number of 
surviving species that would be achieved.  
 
Solution 
 
Part (a): 
 
Part 1: States a correct pair of hypotheses 
 
  o aH : 0 versus H : 0L S L Sp p p p− = − <  
    OR 
  o aH : 0 versus H : 0S L S Lp p p p− = − >  
     OR 
  o aH : versus H :L S L Sp p p p= <  
 
  Where 
 

Lp  is the proportion going extinct on large islands, 
 and 

Sp  is the proportion going extinct on small islands. 
 
 
Part 2: Identifies a correct test (by name or by formula) and checks appropriate assumptions. 
 

Two-sample test for proportions 
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Assumptions: independent observations and large sample sizes. 

 
The problem states that whether one species becomes extinct is independent of whether another species 
becomes extinct, and that the probability of extinction is the same for all species on large islands and for 
all species on small islands, so it is reasonable to assume that observations are independent. 
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Question 6 (continued) 
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All are greater than 5 (or 10), so the sample sizes are large enough to proceed. 

 
Part 3:  Correct mechanics, including the value of the test statistic and p-value (or rejection region). 
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p-value = 0.00006  

 
(from table p-value ≈ 0; graphing calculator: 3.836233478z = - , p-value = 0.00006) 

 
Part 4:  Stating a correct conclusion in the context of the problem, using the result of the statistical test. 
 

Because the p-value is less than the stated α (or because the p-value is so small, or because the test 
statistic is in the rejection region), reject oH .  There is sufficient evidence that the proportion of species 
becoming extinct is smaller for large islands than for small islands. 
 
If both an a  and a p-value are given, the linkage is implied. If no a  is given, the solution must be 
explicit about the linkage by giving a correct interpretation of the p-value or explaining how the 
conclusion follows from the p-value. 
 
If the p-value in part 3 is incorrect but the conclusion is consistent with the computed p-value, part 4 can 
be considered as correct. 

 
Part (b): 
 
Compute a 95 percent confidence interval for the slope of the regression line. 
 
Part 1: Identifies appropriate confidence interval by name or by formula. 
 
 The confidence interval for the slope of the regression line is .bb ts±  
 
Part 2: Checks appropriate assumptions. 
 

Assumptions: The residual plot shows no unusual patterns that would suggest violation of the 
assumptions, so it is reasonable to proceed. 
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Question 6 (continued) 
 
Part 3: Correct mechanics. 
 

df = n – 2 = 13-2 = 11 

  

0.05323 2.20(0.00618)
0.05323 0.013596

( 0.0668, 0.0396)

− ±
− ±
− −

 

 
Part 4: Interpretation. 
 

We are 95 percent confident that the mean proportion of species going extinct decreases by somewhere 
between 0.03 and 0.06 with each increase of 1 unit in ln(area). The proportion of species going extinct 
decreases with increasing area. 

 
Part (c): 
 

From part (b) it appears that the proportion of species going extinct decreases with increasing area. 
Therefore the proportion of species going extinct is related to the size of the island. Because the island 
sizes differed within the large island group and within the small island group, the assumption is probably 
not reasonable. 

 
Scoring 
 
Each part is scored as either essentially correct (E), partially correct (P), or incorrect (I). 
 
Part (a) is essentially correct (E) if three or four parts of the hypothesis test are correct. 
 
Part (a) is partially correct (P) if one or two parts of the hypothesis test are correct. 
 
NOTE: For part 2 of (a), the independent observations assumption does not have to be addressed in the response 
to get credit for this part, since this is given in the stem of the problem. 
 
Part (b) is essentially correct (E) if three or four parts of the confidence interval are correct. 
 
Part (b) is partially correct (P) if one or two parts of the confidence interval are correct. 
 
Part (c) is essentially correct (E) if the response:  

1. states the assumptions are not reasonable, AND 
2. gives a justification based on the information in part (b); 

      OR  
says that the assumptions are reasonable based on an incorrect conclusion in part (b) that island size                
is not related to extinction proportion, with an appropriate explanation. 
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Question 6 (continued) 

 
Part (c) is partially correct (P) if: 

it says that the assumption is not reasonable, but the explanation is weak or does not appeal to the 
information in part (b); 

 OR  
it says that the assumption is not reasonable because the negative estimate of the slope given in part (b) is 
misinterpreted to suggest that survival rates decrease as area increases; 
OR 
it appeals to part (b) but says that the assumption is reasonable because within each group (large/small), 
the island sizes don’t vary too much; 
OR  
it says the assumption is reasonable because the negative estimate of the slope given in part (b) is 
misinterpreted; 
OR 
the justification appeals to the differing proportions in the original data table only. 

 
Part (c) is incorrect if a choice is made but no justification is given.  
 
Part (d) is essentially correct (E) if the large preserve is chosen and the decision is well supported based on the 
expectation that a larger number of species will be preserved, in comparison to the expected number preserved on 
the five small islands. 
 
Part (d) is partially correct (P) if: 

the large preserve is chosen based on the results from parts (a) and/or (b); 
OR 
the large preserve is chosen but the justification is weak; 
OR 
the five small preserves are chosen based on an incorrect computation of the number of species saved for 
the two scenarios. 

 
Part (d) is incorrect if:  

a choice is made (large or five small) but no justification is given; 
OR 
five small preserves are chosen based only on the fact that there are 80 rather than 70 species at the 

 outset. 
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Question 6 (continued) 

 
4 Complete Response 
 

  All four parts essentially correct  
 
3 Substantial Response  
 
 Three parts essentially correct and no parts partially correct  

      OR 
 Two parts essentially correct and two parts partially correct 

 
2 Developing Response 

 
 Two parts essentially correct and no parts partially correct 

      OR 
 One part essentially correct and two parts partially correct 

      OR 
 Four parts partially correct 

 
1 Minimal Response 
 
 One part essentially correct and no parts partially correct 

      OR  
 No parts essentially correct and two parts partially correct 
 

If a response is between two scores (for example, 2½ points), use a holistic approach to determine whether 
to score up or down depending on the strength of the response and communication. 
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Question 6 
 
Sample: 6A 
Score: 4 
 
This is a complete response that provides an appropriate test of the null hypothesis that large and small islands 
have the same probability of species extinction. It also constructs and interprets a confidence interval for the slope 
of a regression line, uses the information provided in part (b) to determine that an assumption used in part (a) is 
inappropriate, and makes appropriate use of information provided in the problem to determine which of two 
situations would be expected to preserve more species. An essentially complete response is given in part (a). It 
provides the appropriate null and alternative hypotheses with good labeling of notation. A two-sample z-test is 
identified and justified by noting that all observed counts are sufficiently large. The test statistic and p-value are 
correctly evaluated, and an appropriate conclusion is reached about the scientist’s belief. An essentially complete 
response is also provided for part (b). A formula is provided for a confidence interval for a slope, and it is 
evaluated with the appropriate standard error. The confidence interval is a bit too narrow because the 97.5-th 
percentile of the standard normal distribution is used instead of a more appropriate percentile of a t-distribution 
with 13 2 11- =  degrees of freedom, but this does not seriously detract from the overall strength of the response. 
Use of the method for constructing the confidence interval is justified by appealing to the random pattern in the 
residual plot. The appropriate conclusion that probability of extinction decreases as land area increases is 
expressed with 95 percent confidence. The response to part (c) appeals to the result in part (b) to conclude that the 
assumption of homogeneous extinction probabilities across small islands is unreasonable because extinction 
probabilities decrease as island area increases. The response to part (d) computes expected numbers of species that 
would become extinct and survive for the two situations under consideration. This is done using the estimated 
extinction probabilities from the models in part (a) and part (b), although only the calculations for the regression 
model in part (b) are needed for a complete response. The response shows that the expected number of surviving 
species would be greater if 70 at-risk species are accommodated in a 45 square kilometer area than if 16 at-risk 
species are accommodated in each of five 3 square kilometer areas.  
 
Sample: 6B 
Score: 3 
 
This is a substantial response that also provides an essentially complete test of the null hypothesis that large and 
small islands have the same probability of species extinction in part (a). It differs from the previous response in 
that the pooled estimate of the overall probability of extinction is not used to evaluate a two-sample z-test. Given 
the moderately large expected counts, the two tests are nearly equivalent and lead to the same conclusion. The test 
statistic and p-value are correctly evaluated, and an appropriate conclusion is reached about the scientist’s belief. 
An incorrect standard error is used in the construction of the confidence interval in part (b). While a general 
statement is made about construction of confidence intervals, no conclusion is stated about the slope of the 
regression line fit to the species extinction data. Other errors include incorrect degrees of freedom and failure to 
use the information in the residual plot to help justify the method used to construct the confidence interval. An 
appropriate response is made to part (c) that uses the estimated regression line from part (b) to conclude that the 
assumption of homogeneous extinction probabilities across small islands is unreasonable. The response to part (d) 
is essentially correct, although the expected number of surviving species in the 5 smaller areas is incorrectly 
reported as 51 instead of 61.  
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Question 6 (continued) 
 
Sample: 6C 
Score: 2 
 
This is a developing response that provides an essentially complete response to part (a). A formula is provided in 
part (b) for a confidence interval for a slope, and it is evaluated with the appropriate standard error; but the 
confidence interval is a bit too narrow because the 97.5-th percentile of the standard normal distribution is used 
instead of a more appropriate percentile of a t-distribution with 13 2 11- =  degrees of freedom. This response 
does not refer to the uniformly random pattern in the residual plot to justify the method for constructing the 
confidence interval. The response to part (c) incorrectly concludes that the assumption of homogeneous extinction 
probabilities is reasonable based on a contradictory statement that extinction probabilities decrease as land area 
increases. The response to part (d) simply concludes that a larger land area should be used because it was shown 
in a previous part of this response that extinction probabilities are smaller in larger areas. The response to part (d) 
is not complete, because it does not consider that only 70 at-risk species can be accommodated in the 45 square 
kilometer area, while 80 species can be accommodated in the five smaller 3 square kilometer areas.  

 
 




